Economics 102

Spring 2006

Answer Key for Homework #4
1. 
a. To calculate the value of the equilibrium real interest rate you need to utilize the information you have and the model’s equations.  Start by considering the equation Y = C + SP + T – TR.  For Macronia, you are given a value for Y, C, and (T – TR).  That allows you to solve for private saving and get 1100.  The table tells you that SP = 1000 + 2000iR: when private saving equals 1100, then the real interest rate must equal .05 or 5%. Performing a similar calculation for Micronia reveals that the equilibrium real interest rate in Micronia is also 5%.

b.  To calculate net exports again consult the model’s equations and the information you are given.  Using the formula Y = C + I + G + (X – M) note that you know Y, C, and G but do not know I or (X – M).  But, you do know the equilibrium real interest rate so, for example, in Macronia you can calculate I by noting that I = 400 – 4000iR and plugging in a value of .05 into this equation.  Thus, I for Macronia equals 200. Now, you can solve for the level of net exports for Macronia and you will get (X – M) = 400.  Performing the same calculations using Micronia’s data you will find that investment in Micronia equals 1000 while net exports equal -400.  Note that net exports in Macronia (400) equals net importas (M- X) in Micronia.  

c. If we define the supply of loanable funds as equaling private savings plus capital inflows (KI) then this means that the supply of loanable funds in Macronia equals 1100 + -400 for a total supply of loanable funds of 700.  The demand for loanable funds in Macronia is comprised of the demand by businesses for funds (I) and the demand by government for funds (-SG): thus, the demand for loanable funds in Macronia is 200 + 500 or 700.  the demand for loanable funds equals the supply of loanable funds in Macronia.  Following the same logic for Micronia, the supply of loanable funds equals 1400 while the demand for loanable funds equals 1400.  Thus, the loanable funds market in both economies is in equilibrium. 
d. National saving and capital inflows in Macronia equal 200 while investment also equals 200.  National saving and capital inflows in Micronia equal 1000 while investment equals 1000. Thus, the sum of NS + KI equals I in both countries.
2.

a. To find these equations sketch a coordinate graph with the real interest rate on the vertical axis and loanable funds on the horizontal axis.  Then you can plot the points you know: for instance, investment spending equals 1010 when the real interest rate is .02 (or 2%) and investment spending equals 1030 when the real interest rate is .04.  Then you can use your basic slope intercept form to solve for the equation.  You need to repeat this process using the information you have about private saving and the real interest rate.  The equations are I = 1050 – 1000 iR and Sp = 1000 + 12000 iR.

b. One way to solve this question is to think about the fact that leakages equal injections in equilibrium.  Thus, SP  + T – TR  = I + G.  We can substitute into this equation and get 1000 + 12000iR + 200 = 800 + 1050 – 1000 iR.  Solving this equation we find the equilibrium real interest rate equals .05 or 5%.  Plugging this value back into our equations for investment spending and private saving allows us to calculate investment as 1000 and private saving as 1600.  Alternatively, market clearing in the loanable funds market implies 1000 + 12000 iR = 1050 – 1000 iR + 600 since private saving equals investment spending plus the negative budget balance. Thus iR = .05. Then Sp = $1600 and I = $1000.
c.   Y = C + G + I = 10,000 + 800 + 1000 = $11,800.
d. The leakages = Sp + (T-TR) =1800 and injections = G + I = 1800.
e.  Market clearing implies 1000 + 12000 iR = 1050 – 1000 iR + 730. Thus iR is equal to .06.  Then Sp = $1720 and I = $990. Since consumption and investment are reduced by a total of $130, the level of  total output is unaffected by this increase in government spending (there is complete crowding out). In the Classical Model, fiscal policy does not affect the level of real GDP.
3.

a. Ms = Md or 5000 = k × 10000 implies k = .5.

b. Since in equilibrium 6,600 = .5 × nominal GDP, the nominal GDP is $13,200. Since the price level increase 10%, the real GDP for 2005  = 13,200 / 1.1 = $12,000.
c. The growth rate of real GDP from 2004 to 2005 = (12,000 – 10,000) / 10,000 × 100 = 20%.

d. Ms = k P Y implies P = 13,200 / (.5 × 12,000) = 2.2. Thus the inflation rate is 120%. The nominal GDP is PY = Ms / k = $26,400 and the real GDP is $12,000.
e. Ms = k P Y = .5 × 1.05 × 12,000 = $6,300.
4. 
a. From data of 2002 and 2003, we obtain C = 400 + .5 (Y-T).

	Year
	Y
	T
	Y-T
	C
	G
	IPlanned
	AEPlanned
	IUnplanned

	2002
	$8,000
	500
	7,500
	4,150
	1,000
	700
	5,850
	2,150

	2003
	9,000
	500
	8,500
	4,650
	1,000
	700
	6,350
	2,650

	2004
	10,000
	1,000
	9,000
	4,900
	4,000
	800
	9,700
	300


b. The aggregate autonomous consumer spending is $400 and the MPC = .5.
c. Y = C + G + I or Y = 400 + .5 (Y-1300) + 5000 + 100. Solving this equation for Y, we find Y = 9700.


































